as 1

LIVING SPACES

MARTINIQUE OUTDOOR SOFA
16C067A-3D-KD

267636 Assembly Instruction

Parts List: Hardware List:

REF. DESCRIPTION IMAGE QTY REF. DESCRIPTION IMAGE QTY
A Back ! 1 055 | Bolt(1/4"15MM) 4
B Seat h 1 061 | Bolt(1/4™45MM) 2
c cushion 1 3 064 | Bolt(1/4™60MM) 4
D backpad @ 3 053 [ Washer(1/4") 10

052 | Lock Washer(1/4") 6

Diagram:

050

Allen Wrench




